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(()) E Vermenigvuldig decimalel? met negatieve machten
® s] > van tien

Naam: Datum: Score:
8349, 3 x 0.001 = 5548, 1 x 0.0001 =
6301, 3 x 0.0001 = 2577,9 x0.1 =
7548, 3 x 0.0001 = 1158, 6 x 0.0001 =
7648, 1 x 0.001 = 6095,4 % 0.01 =
2586,2 x 0.001 = 9747,6 x 0.001 =
3856,5 % 0.01 = 1630, 6 x 0.0001 =
6727,4 x 0.0001 = 6214,3 x 0.01 =
1769, 3 x 0.0001 = 2425,2 x 0.0001 =
6810, 1 x 0.01 = 8747,3 x 0.0001 =
8317,1x0.001 = 4070, 8 x 0.001 =
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Vermenigvuldig decimalen met negatieve machten

van tien

Naam:

8349,3 x 0.001 = 8.3493

6301, 3 x 0.0001 = 0.63013

7548, 3 x 0.0001 = 0.75483

7648, 1 x 0.001 = 7.6481

2586,2 % 0.001 = 2.5862

3856,5 x 0.01 = 38.565

6727,4 x0.0001 = 0.67274

1769, 3 x 0.0001 = 0.17693

6810,1 x 0.01 = 68.101

8317,1x0.001 =8.3171

Datum:

5548, 1 x 0.0001 = 0.55481

2577,9 x 0.1 = 257.79

1158, 6 x 0.0001 = 0.11586

6095,4 x 0.01 = 60.954

9747,6 x 0.001 =9.7476

1630, 6 x 0.0001 = 0.16306

6214,3 x 0.01 = 62.143

2425,2 % 0.0001 = 0.24252

8747,3 % 0.0001 = 0.87473

4070, 8 x 0.001 = 4.0708
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